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SURVEY OF A'PORTION OF THE SUBDIVISIONAL LINES,
T, 18 N., R, 36 E,

CHAINS

23.10

30.00
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52.80

65.00

78.80

79.81

Spur, slopes E.; ascend 70 ft. over a rolling SE.
slope.

Flat-topped ridge, bears NE. and SW.; continue along
top of ridge.

Leave tdp of ridgé, bears NW. and SE.; descend 20 ft.
along a rolling E. slope.

Point for the % sec. cor. of secs., 1 and 2.

Set an iron post, 28 ins. long, 2% ins. diam., 18 ins.
in the ground to bedrock, and in a collar of stone,
with brass cap mkd.
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A pinon, 4 ins. diam., bears N. 38%° E., 40 1lks.
dist., mkd. X BT. '

A juniper, 5 ins. diam., bears S. 11%° W., 24 lks.
dist., mkd. % S2 BT.

Raise a mound of stone, 3 ft. base, 2 ft. high,
W. of cor.

Descend 30 ft. along a rolling E. slope.

'Ravine, drains SE.; ascéndA360'ft. over a S. slope.

Crest of ridge, bears NNW. and SSE.; ascend 70 ft.
along a rolling E. slope. ’

Spur, slopes E.; descend 10 ft. over a N. slope.
Intersect the S. bdy. of sec. 36, T. 19 N., R. 36 E.
Point for the closing cor. of secs. 1 and 2.

Set an iron post, 28 ins. long, 2% ins. diam., over a
cross (X) marked on solid bedrock, and in a mound
of stone to cap, 4 ft. base, with brass cap mkd.
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A pinon, 12 ins. diam., bears S. 56%° E., 38 lks.
dist., mkd. T8N R36E S1 CC BT.
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